channel

variat

channel

spectrum

500 == SEsUEBacnE pesss s eanE R B = T = e 0
400 [~ = : = = e S AT srew oo e e T
300 = e S s 5 == = — = - - = = . 2 = 5
200 == = — — = - S = N
100 |-
= L -10
0 4 5 6
variation by channel
1 T T T T T
0.5 [— -
o ! ! ! | ]
0 100 200 300 400 500 600
scalogram
120
100 0.8
80 0.6
60
40 0.4
20 0.2
0 1 2 3 4 5 6
time in sec
150 T T T T
100 |- —
0 | | | |
0 500 1000 1500 2000 2500
iteration
CMT
0.8
0.6
0.4
0.2
0
time in sec
variation by channel
5 T T T T T T
1 -

0 20 40 60 80 100 120 140



